

Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
April 8, 2024	Name of Event	Wildfire Appreciation Event	
	Location of Event	Shubenacadie, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentals - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5838)	218 kms	\$ 127.27
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 127.27



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	(Cost
April 19, 2024	Name of Event	Nova Scotia Forestry Contractors Association AGM		
	Location of Event	Debert, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentals - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5838)	136 kms	\$	79.40
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	79.40



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

			1	
Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	-	Cost
April 25, 2024	Name of Event	Site Visit - Hope for Wildlife		
	Location of Event	Seaforth, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentals - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5838)	356 kms	\$	207.83
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	207.83



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
April 27, 2024	Name of Event	Fire Service Association of Nova Scotia Conference	
	Location of Event	Truro, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentals - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5838)	152 kms	\$ 88.74
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 88.74



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information		Cost
(MOIIIII, Day, Teal)	Subject (By Event)		,	50St
May 4, 2024	Name of Event	All Terrain Vehicle Association of Nova Scotia (ATVANS) AGM		
	Location of Event	Truro, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentals - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5838)	154 kms.	\$	89.91
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	89.91



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
May 23, 2024	Name of Event	Northern Pulp Announcement	-
, ,	Location of Event	Halifax, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentals - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5838)	330 kms.	\$ 192.65
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 192.65